
  2500 INTERNATIONAL SERIES-A TRACTOR (NORTH AMERICA)   
  12-05 POWER, FUEL TANK AND PIPING, DIESEL ENGINE TRACTORS  

Page 1 of 2CNH Parts & Service Catalog - Parts Figure

04/05/2011https://webparts.pvassociates.net/cnh/webparts/printfigure.ph...



  2500 INTERNATIONAL SERIES-A TRACTOR (NORTH AMERICA)   
  12-05 POWER, FUEL TANK AND PIPING, DIESEL ENGINE TRACTORS  

 Key  Qty  Part Number  Part Name  Description 
 1  1  528926R1  Valve  Valve Assy, Shut-off 

 2  1  530107R1  Fuel Hose  Fuel Hose 0.31" Id X 10.00", Balance Tube Spacer 

 3  1  528931R1  Tube  Tube Assy, Crossover 

 3  1  528922R1  Tube  Tube Assy, Crossover, Tractors W/grove Attachment 

 4  1  442322  Rod, Connecting  Connector 1/8 Pt X 5/16 Inverted Flared Tube, Tractors Underslung 
Exhaust 

 5  1  539938R1  Tube Assy.  Tube Assy, Tank Breather, Replaces 528923R1 

   2  222-1003  Tube Nut  Nut, 1/2-20 Inverted Flared Tube, Tractorrs W/underslung Exhaust 

 6  1  536011R1  Tube  Tube Assy, Union To Diesel Filter, Tractors W/serial No. 5686 And Below 

 6  1  66024C1    Tube Assy, Union To Diesel Filter, Tractors W/serial No. 5687 And Above 

 7  1  442337  Nut  Union, 1/2-20 Inverted Flared Tube 

 8  1  536005R1  Tube  Tube Assy, Union To Shut-off Valve 

 8  1  536004R1    Tube Assy, Union To Shut-off Valve, Tractors W/grove Attachment 

 9  2  536002R2  Valve  Valve Assy, Fuel Shut-off 

 10  1  536006R1  Tube  Tube Assy, Fuel Return Front 

   2  222-1003  Tube Nut  Nut, 1/2-20 Inverted Flared Tube 

 11  1  442337  Nut  Union, 1/2-20 Inverted Flared Tube 

 12  1  536008R1  Tube  Tube Assy, Fuel Return Rear 

 12  1  536007R1  Tube  Tube Assy, Fuel Return Rear, Tractors W/grove Attachment 

 13  1  528929R1  Check Valve  Valve Assy, Check 

 14  1  529371R92  Tank  Tank Assy, Fuel W/filler Cap 

 14  1  529369R92  Tank  Tank Assy, Fuel W/filler Cap, Tractors W/grove Attachment, Includes Ref 
Nos 15 And 16 

   6  180075  Bolt  Bolt, 5/16 X 5/8 Type 5 

   6  120376  Nut  Nut, 5/16"-18, G5 

   1  80681  Lock Washer  Washer, Lock, 5/16" 

   2  180120  Bolt  Bolt, 3/8-16 X 3/4 Hex-hd Cap 

   2  120377  Nut  Nut, 3/8"-16, G5 

   2  120382  Lock Washer  Washer, Lock, 3/8" 

 15  1  538063R1  Plug  Cap Assy, Fuel Tank Filler, Replaces 529370R1 

 16  1  23977DB  Gasket  Gasket, Fuel Tank Filler Cap 

 17  1  531974R2  Sender  Sending Unit, Electric Fuel Gauge, Optional w/534226R2 

 17  1  534226R2  Sender  Sending Unit, Electric Fuel Gauge, Optional w/531974R2 

   5  1310675C1  Lock Screw  Screw, Lock, Sltd Truss Hd, #10-24 X 3/4", W/nylon Lw, Sending Unit 
Mounting 

 18  1  369154R1  Gasket  Gasket, Sending Unit 

 19  1  529825R2  Cylinder End Cap  Cap, Fuel Gage Flange 

   1  159908  Screw  Screw, 10-24 X 3/8 C-z Rc-rec-pan-hd Mach 

 20  3      Hose, Fuel Line, Furnish 2.5 Inches From Bulk Hose 530107R1 

 21  3  289862C1  Cable Strap  Strap 

 22    539940R1  Clip  Clip, Breather Line, Tractors W/underslung Exhaust Screw, 5/8-11 

   1  271713  Rotor  Screw, 5/8-11 X 3/4 Znd Hex-hd Cap X 3/4 Znd Hex-hd Cap 

   1  538393R1  Filler Cap  Plug, Fuel Tank Vent Pipe Flange 

Page 2 of 2CNH Parts & Service Catalog - Parts Figure

04/05/2011https://webparts.pvassociates.net/cnh/webparts/printfigure.ph...


